
Handout #6                                Story Problems to Adapt with DOL and CGI                
 

Sample Story Problem Sample Story Problem Template Incorporation of DOL into CGI Problem 
Elena had 3 tomatoes. She picked 
another 5 tomatoes. How many tomatoes 
does Elena have now? 

Elena had ____ tomatoes. She picked 
another _____ tomatoes. How many 
tomatoes does Elena have now? 

 

Juan had 3 peanuts. Clara gave him 
some peanuts. Juan now has 8 peanuts.  
How many peanuts did Clara give him? 

Juan had _____ peanuts. Clara gave him 
some peanuts. Juan now has _____ peanuts.  
How many peanuts did Clara give him? 

 

John has some comic books. His mom 
gave him 3 comic books for his birthday. 
He now has 8 comic books. How many 
comic books did he have to start with? 

John has some comic books. His mom gave 
him _____ comic books for his birthday. He 
now has _____ comic books. How many 
comic books did he have to start with? 

 

There were 8 dogs playing together. 3 
dogs ran away. How many dogs are still 
playing together? 

There were _____ dogs playing together. 
_____ dogs ran away. How many dogs are 
still playing together? 

 

There were 8 kids on the school bus. 
Some kids got off the bus. Now there are 
3 kids on the bus. How many kids got 
off the bus? 

There were _____ kids on the school bus. 
Some kids got off the bus. Now there are 
_____ kids on the bus. How many kids got 
off the bus? 

 

Debbie had some books. She went to the 
library and returned 3 books. Debbie 
now has 5 books. How many books did 
she have to start with? 

Debbie had some books. She went to the 
library and returned _____ books. Debbie 
now has _____ books. How many books did 
she have to start with? 

 

Miguel has 4 boxes of pencils. There are 
6 pencils in each box. How many pencils 
does Miguel have altogether? 

Miguel has _____ boxes of pencils. There 
are _____ pencils in each box. How many 
pencils does Miguel have altogether? 

 

Maria has 24 pencils in boxes. There are 
6 pencils in each box. How many boxes 
of pencils does she have?  

Maria has _____ pencils in boxes. There are 
_____ pencils in each box. How many boxes 
of pencils does she have?  

 

Arthur has 6 boxes of pencils. Each box 
has the same number of pencils. All 
together he has 24 pencils. How many 
pencils are in each box? 

Arthur has _____ boxes of pencils. Each box 
has the same number of pencils. All together 
he has _____ pencils. How many pencils are 
in each box? 

 

 


